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L For tha clraait shoum in Fif |, agume that Ha too JFET, Voo |
are matchad /’%RD |
@) Show At the b TFETs B opernle in pinch-off b2,
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| e For p=iov, 1122V, and Ipg=4mg, olasiyn j )
(05> R amd Rp so that Vog, =llpl o~ e =211
2 Skakch oA cloarly [abe] the tramsfir charmcherichic of 3
ta eireadk Ta FU3. 2, for -2V = Up €201 agume MWW
Hat Ha diodes can be Yaf’f'—eunﬁa( !}v a F:‘-?L?Wl‘se—“’\hr
mook| with Vhe=0.65V sl =250, Asi“”""jw
th spec f-u( srrar Vofiﬁve (6.2V) (y maasured afa
currant o of (omA ot that Y] =201, r4fr254v~i"!'¢~e 3enep b2 &
s plassiselinar madl (15%) i
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V=100V, -"0°'PF, Ak & biss currant of 1904/,

f‘r = 400 MHz. (Note that tha bins oletar|s aré nat shawn}

F:N’k on -zs/f:mnil °'f the urF-er 3’0@ )cr.eW ch. (/5/2\>
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diodss has & comshuad 0.7-V olrop when
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(5%) @ Statch and label +ha tomsfor cl\amﬁ/{%‘s/{‘,'c_,zj;_‘gj:.'
5 by What s Ho maximum dioole cuarrent ?

Coﬂo(bkc*l"g omal 4hat +he op anp sachurates "—‘E_%
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4-_ For +ha orrcuct i Fj4) assume that Ha L sk

[OKSL

5 A class AB edpedt sfmge wsing a Twn-olicle bias networg
as shewn In Fi3.5, u,f.'fiéz; oA 2odes /\aw‘y Hlo same
J‘M&"m o, as the eai'p‘d'\ tramsishrs, Assumg that
Vee=10V, Ty0=05mA, R =102, A,250, |Veg 4|=0V.

(@) what st 3-«.‘2502:1,(‘ cdrrent ?

(S’,ﬁ)(b)w!w( are +he {q):?.e st fos;.'b(e I?on'-h'vei omd dea’ve
sutpek s19a0d levels | |

(55 To ackieve a Pos:‘/{'»'lfe peady eﬂ*f“* leve | Ap‘*ﬂ—g "‘-'O‘Hfl
“Jj‘k‘\"e P"-& leve|, what value of By i3 raedeod
?{ Tpiag (s nof chm«:je;(? oond

Gy what value of Ipng 15 naslil 1§ By 's held ot 507
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6. Fi9.6 shawrs A cirawn® fr a val,(wtye-mﬂ‘rol(ec«(
currend sourq ,Qmi,[.,/,',‘g_ series- sevies Letslback
-fkrwévf. +he resistor Re | (The bias elrenit s ot shown)
@ If tha (mf gain 'S wgy/ lage) fio Ha value of

(5%) RE to obfain o cireat “fFroms conolugfan (I}/

<2 (°7)
of I mAL .
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of (00K, a vo{fﬂje &a{n of (00, and an o«;{-{u,t

resistamce of 1 KIL, augl of the transishr | brased

o o cuarred of | mA and has hjce of 100, amd

fo of ok, R =0k,
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